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Ay )E 1 |&EHRE R = (EFIE - SR X JBEA X MFHIER) + GFER X EL X (ETIEE + RIEERE + RIEEE + WMELER))
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0.766 m3 = ((0.000 — 0.500) * 0.770 * 0.000) + (((0.500 * 0.770) - 0.002) * 2.000) + (0.500 * 0.770 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&EHRE R = (EFIE - SR X JBEA X MFHIER) + GFER X EL X (ETIEE + RIEERE + RIEEE + WMELER))
(ElZEHmA]) 0.050 m3 = ((0.000 - 0.500) * 0.050 * 0.000) + (0.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000))

kT 2 AKE R




T I % E H E & (8 &8 % )
SRETEEEES . 01000000 L F)FEE]
TEES | o0 | THESEW |[RBEHR2 FEEGGSOIE = [ of | W—r2% |QREAEGEE)
JeE P 1) G . A e -
¥y e 1 |%E = sisiEye s e
(2R A1) 0.050 m3 = 0. 050
Py e 1 |%E = mEEUE R
(B E) 0.240 m3 = 0.240

BT T A KIE SR



+T T &% E ft E & (& B % )
RETEEEES . 01000000
TEES | 03 | TEE#  [RBKE!I TSVP ¢50 L=8.4m [\-r&S | o | —trewm  |OusEsGEE
JEFE R IEI Gl B Al 15l / it B M
R 1 |HE = (ETERE + RIEVIERE + BBIEERE + WEIER) + (GEFREIE - S@EEIE) X MFE&EITE)) X GIWEIER
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 1.500) * 0.000)) * 2.000
LRl 1| HE = ((fEFIE - WE) X RFER) + (FliE X (ETIER + RIEER + RIEE + MEER))
3.000 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (2.000 + 0.000 + 0.000 + 0.000))
JHE I 1 s = %R X B X (ELERE + RIEERE + RIBLEE + WEER)
0.720 m3 = 1.500 * 0.240 * (2.000 + 0.000 + 0.000 + 0.000)
I 2 Wi = HEiE X JEAR X (RTER + RIEER + 3UEIER + MEIER)
2.310 m3 = 1.500 * 0.770 * (2.000 + 0.000 + 0.000 + 0.000)
IR 1 [ HE = ((fEFIE - SmE) X RTFER) + (FliE X (BTIER + RIEEERE + TR + MEER))
3.000 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (2.000 + 0.000 + 0.000 + 0.000))
AR IH 1| HE = (IR - lE) X RFER) + (FliE X (ETIER + RIEER + SITEE + MEER))
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1.012 m3 = ((0.000 — 0.750) * 0.300 * 0.000) + (0.750 * 0.300 * (4.500 + 0.000 + 0.000 + 0.000))
FEEIE D R L 2 | = (GRFIE - SEilE) X JEA X RFER) + (Rl X JER) - FEfd) X LIER) + GREE X B4 X (RIEEE + RIEERE + MELER))
1.845 m3 = ((0.000 — 0.750) * 0.580 * 0.000) + (((0.750 * 0.580) — 0.025) * 4.500) + (0.750 * 0.580 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&EHRE R = (PR - SEIRE) X JBEA X MFRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + WMELER))
SRS 0.337 m3 = ((0.000 - 0.750) * 0.100 * 0.000) + (0.750 * 0.100 * (4.500 + 0.000 + 0.000 + 0.000))
Ay )E 1 i = SR g
(ElZE9m ) 0.337 m3 = 0.337
Ay E 1| FE = A LS
(FEH) 1.012 m3 = 1.012
Ay )E 2 |HE = wHIEE L&
(HEHI) 3.982 m3 = 3.982
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RETEEEES . 01000000
IEES | 06 | TIHEAM |ABHAIPE ¢50 L=98.4m - rES | 02 | —teH  |@8i#E/ %%/ GoWTs (HEE)
JEFE R EI il B Al 15l / it B M
RO 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
5.500 m = ((5.500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 0.000)) * 1.000
LRl 1 |FE = (@EFRE - SEE) X MFRER) + GRlig X (ETIER + RIER + RIBLER + MEER))
1.787 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (5.500 + 0.000 + 0.000 + 0.000))
JHE I 1 s = %R X B X (ELERE + RIEERE + RIBLEE + WEER)
0.536 m3 = 0.325 * 0.300 * (5.500 + 0.000 + 0.000 + 0.000)
I 2 Wi = HEiE X JEAR X (RTER + RIEER + 3UEIER + MEIER)
1.841 m3 = 0.325 * 1.030 * (5.500 + 0.000 + 0.000 + 0.000)
IR 1 [ HE = ((fEFIE - SmE) X RTFER) + (FliE X (BTIER + RIEEERE + TR + MEER))
1.787 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (5.500 + 0.000 + 0.000 + 0.000))
EiEIEIH 2 |EE = (GEFE - FEiE) X FRFEEER) + (5@E X (ETIER + RIERE + TR + MEER))
1.787 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (5.500 + 0.000 + 0.000 + 0.000))
R 3 [ = ((EFiE - HiEhE) X MFHER) + GFEE X (ETERE + RIBERE + BY8ER + MEER))
1.787 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (5.500 + 0.000 + 0.000 + 0.000))
HRARE IH 1 |FE = (GEFR - SEE) X MFRER) + GRlig X (ETIER + RIER + RIBLER + MEER))
1.787 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (5.500 + 0.000 + 0.000 + 0.000))
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BRETEEIEES - 01000000 H#HEE]
| TiE®E [ 06 | THERWM |AHHAIPE $50 L=98.4m [\-r&S | 02 | —teH  |@8i#E/ %%/ GoWTs (HEE)
JEFE R EI il B Al 15l / it B M
HRAZAE IH 2 |EdE = (GRFIE - SR X MFRER) + G X (ETERE + RIBEE + JBY8ER + MEER))
1.787 m2 = ((0.000 — 0.325) * 0.000) + (0.325 % (5.500 + 0.000 + 0.000 + 0.000))
FEEIE D R L 1 | = ((fEFIE - SlE) X JEA X FREERE) + (Mg X B X (ETERE + RIBERE + B8R + EIER))
0.536 m3 = ((0.000 — 0.325) * 0.300 * 0.000) + (0.325 * 0.300 * (5.500 + 0.000 + 0.000 + 0.000))
FEEIE D R L 2 |EE = (BEFIE - FEiE) X JBEA X MFER) + (F@EiR X BER) - FEfH) X LTER) + GRlilg X B X (RIER + 3UBERE + MELER))
0.631 m3 = ((0.000 — 0.325) * 0.430 * 0.000) + (((0.325 % 0.430) - 0.025) * 5.500) + (0.325 * 0.430 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&EHRE R = (PR - SEIRE) X JBEA X MFRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + WMELER))
SRS 0.178 m3 = ((0.000 - 0.325) * 0.100 * 0.000) + (0.325 % 0.100 * (5.500 + 0.000 + 0.000 + 0.000))
Ay )E 1 i = SR g
(ElZE9m ) 0.178 m3 = 0.178
Ay E 1| FE = A LS
(FEHI) 0.536 m3 = 0.536
Ay )E 2 |EdE = WEHIZ2E L E
(FEH) 1.841 m3 = 1.841
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BEEEEES . 01000000

IEES | 06 | TIHEAM |ABHAIPE ¢50 L=98.4m - rES | 03 | —taH |@mi#/Fk/GoWTs (EE)

Ji& F3 | FH A

LT 1 [ = (BTERE + RIBVIEE + RUMEE + BOUEE) + (GERREE - % @miie) X SFmEpk) X oWk
0.982 m = ((0.982 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 0.000)) * 1.000

EES 1 [ = (PR - %) X SEREE) + OG5l X (ETEE + RIREE + AR + HEER))
0.319 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (0.982 + 0.000 + 0.000 + 0.000))

] 1 [l = %aliE X 84 X (ETHER + RMER + aIERE + MIER)
0.226 m3 = 0.325 * 0.710 * (0.982 + 0.000 + 0.000 + 0.000)
] 2[R = iR X EA X (LTHEE + RIBER + AMIEE + MEER)

0.185 m3 = 0.325 * 0.580 * (0.982 + 0.000 + 0.000 + 0.000)

EETAlE 1 [ = (PR - %) X MERCEE) + OR@iE X (ETEE + RIRIEE + SRR + MEER))
0.319 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (0.982 + 0.000 + 0.000 + 0.000))

A I 1 [ = (PR - %) X MERCEE) + OG5l X (ETEE + RIREE + REE + HEER))
0.319 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (0.982 + 0.000 + 0.000 + 0.000))

AR H 2 [ = (GRTIR - %imiE) X MFIRIEE) + 8 X (TR + RIBLEE + RIMLEE + MELE))
0.319 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (0.982 + 0.000 + 0.000 + 0.000))

TECa 1 [ = (PR - @) X B4 X SFEEE) + GREE X B2 X (ETER + RIBERE + RAMLEE + MELE))

0.226 m3 = ((0.000 — 0.325) * 0.710 * 0.000) + (0.325 * 0.710 * (0.982 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
IEES | 06 | TIHEAM |ABHAIPE ¢50 L=98.4m - rES | 03 | —taH |@mi#/Fk/GoWTs (EE)
JEFE R EI il B Al 15l / it B M
FEEIH D R L 2 |EE = (EFIE - FliE) X JBEA X MFER) + (F@iR X BER) - FEfE) X LTIER) + GRlilg X B X (RIER + 3UBER + fEER))
0.102 m3 = ((0.000 — 0.325) * 0.340 * 0.000) + (((0.325 % 0.340) - 0.006) * 0.982) + (0.325 * 0.340 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.015 m3 = ((0.000 — 0.325) * 0.050 * 0.000) + (0.325 * 0.050 * (0.982 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.015 m3 = 0.015
Ay )E 1| HE = A LS
(FEHI) 0.226 m3 = 0.226
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.185 m3 = 0.185
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RETEEEES . 01000000

IEES | 06 | TIHEAM |ABHAIPE ¢50 L=98.4m - rES | 04 | —taH  |@mhiE/ 5%/ G50Ws0 (i)

JEFE R EI il B Al 15l / it B M

RO 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
7.868 m = ((7.868 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 0.000)) * 1.000

LRl 1 |FE = (@EFRE - SEE) X MFRER) + GRlig X (ETIER + RIER + RIBLER + MEER))
2.557 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (7.868 + 0.000 + 0.000 + 0.000))

JHE I 1 s = %R X B X (ELERE + RIEERE + RIBLEE + WEER)
0.792 m3 = 0.325 * 0.310 * (7.868 + 0.000 + 0.000 + 0.000)

I 2 Wi = HEiE X JEAR X (RTER + RIEER + 3UEIER + MEIER)
1.406 m3 = 0.325 * 0.550 * (7.868 + 0.000 + 0.000 + 0.000)

IR 1 [ HE = ((fEFIE - SmE) X RTFER) + (FliE X (BTIER + RIEEERE + TR + MEER))
2.557 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (7.868 + 0.000 + 0.000 + 0.000))

HRARE IH 1 |FE = (GEFR - SEE) X MFRER) + GRlig X (ETIER + RIER + RIBLER + MEER))
2.557 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (7.868 + 0.000 + 0.000 + 0.000))

PRAZE IH 2 |EdE = (GRFIE - SR X MFRER) + GFERE X (ETERE + RIBEE + 3BY8ER + MEIER))
2.557 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (7.868 + 0.000 + 0.000 + 0.000))

FEEIE DR L 1 | HE = ((fEFIE - SlE) X JEA X FREER) + (FlE X B X (ETERE + RIBERE + Y8R + MEIER))

0.792 m3 = ((0.000 — 0.325) * 0.310 * 0.000) + (0.325 * 0.310 * (7.868 + 0.000 + 0.000 + 0.000))
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BRETEEIEES - 01000000 H#HEE]
| T@®%8 | o6 | TIHE&#M |AFHAIPE ¢50 L=98.4m - +ES | 04 | J—t8%  [@hE/#]/G50W50 (GEfE)
JEFE R EI il B Al 15l / it B M
FEEIH D R L 2 |EE = (EFIE - FliE) X JBEA X MFER) + (F@iR X BER) - FEfE) X LTIER) + GRlilg X B X (RIER + 3UBER + fEER))
0.784 m3 = ((0.000 — 0.325) * 0.310 * 0.000) + (((0.325 % 0.310) — 0.001) * 7.868) + (0.325 * 0.310 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.127 m3 = ((0.000 - 0.325) * 0.050 * 0.000) + (0.325 * 0.050 * (7.868 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.127 m3 = 0.127
Ay )E 1| HE = A LS
(FEHI) 0.792 m3 = 0.792
Ay )E 2 | = WEHIZE2E LA
(HEHI) 1.406 m3 = 1.406
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RETEEEES . 01000000

IEES | 06 | TIHEAM |ABHAIPE ¢50 L=98.4m - rES | 05 | —taH  |©miE/ g8/ Gsows0 )

JEFE R EI il B Al 15l / it B M

RO 1 %A = ((ETERE + RIEVER + BHUER + BEER) + (FEFRAE - S@iElE X MFREITE)) X SRk
6.040 m = ((6.040 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) * 1.000

LRl 1 |FE = (@EFRE - SEE) X MFRER) + GRlig X (ETIER + RIER + RIBLER + MEER))
4.530 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (6.040 + 0.000 + 0.000 + 0.000))

I 1 s = %R X B X (ELERE + RIEERE + RIBLEE + WEER)
1.404 m3 = 0.750 * 0.310 * (6.040 + 0.000 + 0.000 + 0.000)

I 2 Wi = HEiE X JEAR X (RTER + RIEER + 3UEIER + MEIER)
3.171 m3 = 0.750 * 0.700 * (6.040 + 0.000 + 0.000 + 0.000)

IR 1 [ HE = ((fEFIE - SmE) X RTFER) + (FliE X (BTIER + RIEEERE + TR + MEER))
4.530 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (6.040 + 0.000 + 0.000 + 0.000))

HRARE IH 1 |FE = (GEFR - SEE) X MFRER) + GRlig X (ETIER + RIER + RIBLER + MEER))
4.530 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (6.040 + 0.000 + 0.000 + 0.000))

PRAZE IH 2 |EdE = (GRFIE - SR X MFRER) + GFERE X (ETERE + RIBEE + 3BY8ER + MEIER))
4.530 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (6.040 + 0.000 + 0.000 + 0.000))

FEEIE DR L 1 |FEE = (@EFR - SEE) X ESR X FREER) + GFBE X B X (ETER + RIFER + BBER + MEER))

1.404 m3 = ((0.000 — 0.750) * 0.310 * 0.000) + (0.750 * 0.310 * (6.040 + 0.000 + 0.000 + 0.000))
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BRETEEIEES - 01000000 H#HEE]
TiEES | 06 | THESW [AB®ARI PE $50 L=98.4m [L—+&E | 05 | J—t8%  [G#E/%/G50Ws50 GGEfE)
JEFE R EI il B Al 15l / it B M
FEEIH D R L 2 |EE = (EFIE - FliE) X JBEA X MFER) + (F@iR X BER) - FEfE) X LTIER) + GRlilg X B X (RIER + 3UBER + fEER))
2.071 m3 = ((0.000 — 0.750) * 0.460 * 0.000) + (((0.750 * 0.460) — 0.002) * 6.040) + (0.750 * 0.460 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.226 m3 = ((0.000 - 0.750) * 0.050 * 0.000) + (0.750 * 0.050 * (6.040 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.226 m3 = 0.226
Ay )E 1| HE = A LS
(FEHI) 1.404 m3 = 1.404
Ay )E 2 | = WEHIZE2E LA
(HEHI) 3.171 m3 = 3.171
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BEEEEES . 01000000

IEES | 06 | TIHEAM |ABHAIPE ¢50 L=98.4m - rES | 06 | J—t&#  [©hi#E/#R/G50 (HEE)

Ji& f | FH A

LT 1 [ = (BTER + RIBVIEE + RUMEE + HOUEE) + (GERREE - %@l X SFmEpk) X oWk
53.976 m = ((26.988 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.600) * 0.000)) * 2.000

EES 1 [ = (PR - %) X SEREE) + OG5l X (ETEE + RIREE + AR + HEER))
16.192 m2 = ((0.000 — 0.600) * 0.000) + (0.600 * (26.988 + 0.000 + 0.000 + 0.000))

] 1 [l = %aliE X 84 X (ETHER + RMER + aIERE + MIER)
5.019 m3 = 0.600 * 0.310 * (26.988 + 0.000 + 0.000 + 0.000)
] 2[R = iR X EA X (LTHEE + RIBER + AMIEE + MEER)

8.906 m3 = 0.600 * 0.550 * (26.988 + 0.000 + 0.000 + 0.000)

EETAlE 1 [ = (PR - %) X MERCEE) + OR@iE X (ETEE + RIRIEE + SRR + MEER))
16.192 m2 = ((0.000 — 0.600) * 0.000) + (0.600 * (26.988 + 0.000 + 0.000 + 0.000))

A I 1 [ = (PR - %) X MERCEE) + OG5l X (ETEE + RIREE + REE + HEER))
16.192 m2 = ((0.000 — 0.600) * 0.000) + (0.600 * (26.988 + 0.000 + 0.000 + 0.000))

AR H 2 [ = (GRTIR - %imiE) X MFIRIEE) + 8 X (TR + RIBLEE + RIMLEE + MELE))
16.192 m2 = ((0.000 — 0.600) * 0.000) + (0.600 * (26.988 + 0.000 + 0.000 + 0.000))

TECa 1 [ = (PR - @) X B4 X SFEEE) + GREE X B2 X (ETER + RIBERE + RAMLEE + MELE))

5.019 m3 = ((0.000 — 0.600) * 0.310 * 0.000) + (0.600 * 0.310 * (26.988 + 0.000 + 0.000 + 0.000))
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BRETEEIEES - 01000000 H#HEE]
| TiE®E [ 06 | THERWM |AHHAIPE $50 L=98.4m - rES | 06 | J—t&#  [©hi#E/#R/G50 (HEE)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EE = (TR - FliE) X JBEA X MFER) + (F@iR X BER) - FEfH) X LTER) + GRlilg X B X (RIER + 3UBLEE + MELER))
4,965 m3 = ((0.000 — 0.600) * 0.310 * 0.000) + (((0.600 * 0.310) — 0.002) * 26.988) + (0.600 * 0.310 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.809 m3 = ((0.000 - 0.600) * 0.050 * 0.000) + (0.600 * 0.050 * (26.988 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.809 m3 = 0.809
Ay )E 1| HE = A LS
(FEHI) 5.019 m3 = 5.019
Ay )E 2 | = WEHIZE2E LA
(HEHI) 8.906 m3 = 8.906
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BEEEEES . 01000000

IEES | 06 | TIHEAM |ABHAIPE ¢50 L=98.4m - rES | 07 | —te#  |@miE/ %%/ G50ws0 (i)

Ji& F3 | FH A

LT 1 [ = (BTERE + RIBVIEE + RUMEE + BOUEE) + (GERREE - % @miie) X SFmEpk) X oWk
49.420 m = ((49.420 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 0.000)) * 1.000

EES 1 [ = (PR - %) X SEREE) + OG5l X (ETEE + RIREE + AR + HEER))
16.061 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (49.420 + 0.000 + 0.000 + 0.000))

] 1 [l = %aliE X 84 X (ETHER + RMER + aIERE + MIER)
4.979 m3 = 0.325 * 0.310 * (49.420 + 0.000 + 0.000 + 0.000)
] 2[R = iR X EA X (LTHEE + RIBER + AMIEE + MEER)

8.833 m3 = 0.325 * 0.550 * (49.420 + 0.000 + 0.000 + 0.000)

EETAlE 1 [ = (PR - %) X MERCEE) + OR@iE X (ETEE + RIRIEE + SRR + MEER))
16.061 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (49.420 + 0.000 + 0.000 + 0.000))

A I 1 [ = (PR - %) X MERCEE) + OG5l X (ETEE + RIREE + REE + HEER))
16.061 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (49.420 + 0.000 + 0.000 + 0.000))

AR H 2 [ = (GRTIR - %imiE) X MFIRIEE) + 8 X (TR + RIBLEE + RIMLEE + MELE))
16.061 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (49.420 + 0.000 + 0.000 + 0.000))

TECa 1 [ = (PR - @) X B4 X SFEEE) + GREE X B2 X (ETER + RIBERE + RAMLEE + MELE))

4.979 m3 = ((0.000 — 0.325) * 0.310 * 0.000) + (0.325 * 0.310 * (49.420 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
| TiE®E [ 06 | THERWM |AHHAIPE $50 L=98.4m [\-r&S | 07 | —te#  |@miE/ %%/ G50ws0 (i)
JEFE R EI il B Al 15l / it B M
FEEIH D R L 2 |EE = (EFIE - FliE) X JBEA X MFER) + (F@iR X BER) - FEfE) X LTIER) + GRlilg X B X (RIER + 3UBER + fEER))
4.880 m3 = ((0.000 - 0.325) * 0.310 * 0.000) + (((0.325 * 0.310) — 0.002) * 49.420) + (0.325 * 0.310 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.803 m3 = ((0.000 — 0.325) * 0.050 * 0.000) + (0.325 * 0.050 * (49.420 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.803 m3 = 0.803
Ay )E 1| HE = A LS
(FEHI) 4.979 m3 = 4.979
Ay )E 2 | = WEHIZE2E LA
(HEHI) 8.833 m3 = 8.833
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T I &% E B R E (& B %)
RETEEEES . 01000000
IEES | 06 | TIHEAM |ABHAIPE ¢50 L=98.4m - rES | 08 | —taH |@mi#E/ 18/ G50ws0 (i)
JEFE R EI il B Al 15l / it B M
SR A 1\ = ((fEFIE - SmE) X RTFER) + (FliE X (ETIER + RIEIEERE + TR + MEER))
0.755 m2 = ((0.000 - 0.500) * 0.000) + (0.500 * (1.510 + 0.000 + 0.000 + 0.000))
I 1 |EEEE = SR X B X (ELER + RIEERE + RIBLEE + WEER)
0.234 m3 = 0.500 * 0.310 * (1.510 + 0.000 + 0.000 + 0.000)
I 2 | = FEiE X JEAR X (RTIER + RIER + 3URIER + MBI R)
0.528 m3 = 0.500 * 0.700 * (1.510 + 0.000 + 0.000 + 0.000)
EiEIEIH 1 |FE = (GEFR - SR X MFEER) + GRlig X (ETIER + RIER + RIBER + MEER))
0.755 m2 = ((0.000 — 0.500) * 0.000) + (0.500 * (1.510 + 0.000 + 0.000 + 0.000))
PRAZAE IH 1 [ HE = ((fEFIE - SmE) X RTFER) + (FliE X (BTIER + RIEEERE + TR + MEER))
0.755 m2 = ((0.000 - 0.500) * 0.000) + (0.500 * (1.510 + 0.000 + 0.000 + 0.000))
HRARE IH 2 |EE = (GEFE - FEiE) X FRFEEER) + (5@E X (ETIER + RIERE + TR + MEER))
0.755 m2 = ((0.000 — 0.500) * 0.000) + (0.500 * (1.510 + 0.000 + 0.000 + 0.000))
FEEIE D R L 1\ HE = ((fEFIE - SliE) X JEA X EFRIERE) + (RlE X B4 X (ETERE + RIBEE + JBJ8ER + EER))
0.234 m3 = ((0.000 — 0.500) * 0.310 * 0.000) + (0.500 * 0.310 * (1.510 + 0.000 + 0.000 + 0.000))
FEEIE DR L 2 |EE = (GEFIE - FEiE) X JBEh X MPRER) + (FaEE X BER) - FEfH) X ETER) + GRlig X B X (RIER + 3UBER + MEER))
0.344 m3 = ((0.000 — 0.500) * 0.460 * 0.000) + (((0.500 * 0.460) — 0.002) * 1.510) + (0.500 * 0.460 * (0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
| TiE®E [ 06 | THERWM |AHHAIPE $50 L=98.4m [\-r&S | 08 | —taH |@mi#E/ 18/ G50ws0 (i)
JEFE R EI il B Al 15l / it B M
Ay )E 1 |&EEA G = ((EFIE - SliE) X JEA X EFEER) + GRlME X B4 X (LTERE + RIBEE + B48ER + EER))
(Bl ZE9mH]) 0.037 m3 = ((0.000 — 0.500) * 0.050 * 0.000) + (0.500 * 0.050 * (1.510 + 0.000 + 0.000 + 0.000))
Ay E 1 |[FE = SEEEAEUE LR
SRS 0.037 m3 = 0.037
Ay )E 1 i = SR LE
(HEHI) 0.234 m3 = 0.234
Ay )E 2 |FiE = WEHIZEE L&
(FEHI) 0.528 m3 = 0.528
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T T % E 8 E E (fF B % )
BEEEEES . 01000000

IEES | 09 | TIE&M |ABHR2PE ¢50 L=22.3m - rES | o1 | J—F8#  [EESAS/G50W20 (FE1E)

Ji& F3 | FH A

LT 1 [ = (BTERE + RIBVIEE + RUMEE + BOUEE) + (GERREE - % @miie) X SFmEpk) X oWk
6.914 m = ((6.914 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.300) * 0.000)) * 1.000

EES 1 [ = (PR - %) X SEREE) + OG5l X (ETEE + RIREE + AR + HEER))
2.074 m2 = ((0.000 — 0.300) * 0.000) + (0.300 * (6.914 + 0.000 + 0.000 + 0.000))

] 1 [l = %aliE X 84 X (ETHER + RMER + aIERE + MIER)
0.643 m3 = 0.300 * 0.310 * (6.914 + 0.000 + 0.000 + 0.000)
] 2[R = iR X EA X (LTHEE + RIBER + AMIEE + MEER)

1.140 m3 = 0.300 * 0.550 * (6.914 + 0.000 + 0.000 + 0.000)

EETAlE 1 [ = (PR - %) X MERCEE) + OR@iE X (ETEE + RIRIEE + SRR + MEER))
2.074 m2 = ((0.000 - 0.300) * 0.000) + (0.300 * (6.914 + 0.000 + 0.000 + 0.000))

A I 1 [ = (PR - %) X MERCEE) + OG5l X (ETEE + RIREE + REE + HEER))
2.074 m2 = ((0.000 — 0.300) * 0.000) + (0.300 * (6.914 + 0.000 + 0.000 + 0.000))

AR H 2 [ = (GRTIR - %imiE) X MFIRIEE) + 8 X (TR + RIBLEE + RIMLEE + MELE))
2.074 m2 = ((0.000 - 0.300) * 0.000) + (0.300 * (6.914 + 0.000 + 0.000 + 0.000))

TECa 1 [ = (PR - @) X B4 X SFEEE) + GREE X B2 X (ETER + RIBERE + RAMLEE + MELE))

0.643 m3 = ((0.000 — 0.300) * 0.310 * 0.000) + (0.300 * 0.310 * (6.914 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
| TiE®&E [ 09 | TR |AHEHR2PE 50 L=223m - rES | o1 | J—F8#  [EESAS/G50W20 (FE1E)
JEFE R EI il B Al 15l / it B M
FEEIH D R L 2 |EE = (EFIE - FliE) X JBEA X MFER) + (F@iR X BER) - FEfE) X LTIER) + GRlilg X B X (RIER + 3UBER + fEER))
0.629 m3 = ((0.000 — 0.300) * 0.310 * 0.000) + (((0.300 * 0.310) — 0.002) * 6.914) + (0.300 * 0.310 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.103 m3 = ((0.000 - 0.300) * 0.050 * 0.000) + (0.300 * 0.050 * (6.914 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.103 m3 = 0.103
Ay )E 1| HE = A LS
(FEHI) 0.643 m3 = 0.643
Ay )E 2 | = WEHIZE2E LA
(HEHI) 1.140 m3 = 1.140
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+T T &% E ft E & (& B % )
RETEEEES . 01000000[ L #)&EHE]
| T@&8 | 09 | I@E&#M [AHHR2 PE ¢50 L=22.3m - rES | 02 | —t&#  [EESEF/G50W20 GEfE)
JEFE R EI il B JL Hl / it B M
P 1 |[FEscE = (g X BER) - @) X (ETIER + fEER)) + (F@iR X ES X GRIBIEE + ITERE))
1.836 m3 = (((0.300 * 0.410) — 0.003) * (15.300 + 0.000)) + (0.300 * 0.410 * (0.000 + 0.000))
I 2 | = HEiE X JEA X (RTIER + RIER + 3UEIER + EIER)
2.295 m3 = 0.300 * 0.500 * (15.300 + 0.000 + 0.000 + 0.000)
HRAZE IH 1 [ = ((fEFIE - SmE) X RTFER) + (FliE X (ETIER + RIEEE + TR + MEER))
4.590 m2 = ((0.000 - 0.300) * 0.000) + (0.300 * (15.300 + 0.000 + 0.000 + 0.000))
HRARE IH 2 |EE = (PR - FliE) X FRFEER) + 5@E X (ETIER + RIER + TR + MEER))
4.590 m2 = ((0.000 — 0.300) * 0.000) + (0.300 * (15.300 + 0.000 + 0.000 + 0.000))
FEEIHE D R L 1 [ HE = ((fEFIE - SlE) X JEA X EFRERE) + (RlE X B4 X (ETERE + RIBEE + BJ8ER + EER))
1.881 m3 = ((0.000 — 0.300) * 0.410 * 0.000) + (0.300 * 0.410 * (15.300 + 0.000 + 0.000 + 0.000))
FEEIE D R L 2 |E&E = (GEFIE - FEiE) X JBEh X MPRER) + (F@EE X BER) - FEfH) X ETER) + GRlig X B X (RIER + 3UBER + MELER))
1.392 m3 = ((0.000 — 0.300) * 0.310 * 0.000) + (((0.300 % 0.310) - 0.002) * 15.300) + (0.300 * 0.310 * (0.000 + 0.000 + 0.000))
Ay )E 1 |%kE = HHEUE L&
(HEHI) 1.836 m3 = 1.836
Ay )E 2 |FiE = WEHIZEE L&
(FEHI) 2.295 m3 = 2.295
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T T % E 8 E E (fF B % )
RETEEEES . 01000000
IBES | 15 | T#E&#% |[HHOETE N6 - &S [ o1 | J—r&F [d#E/315A/GW(EE)
JEFEp & |t 3 JL 151 / it 3 =
e 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
4.600 m = ((4.600 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.300) * 0.000)) * 1.000
SR 1| HE = ((fEFIE - WE) X RFER) + (FliE X (ETIER + RIEER + RIEE + MEER))
1.380 m2 = ((0.000 — 0.300) % 0.000) + (0.300 % (4.600 + 0.000 + 0.000 + 0.000))
HEHI 1 [FEsE = SRR X JBEA X (ETHR + RIER + RIEER + MEER)
0.427 m3 = 0.300 * 0.310 * (4.600 + 0.000 + 0.000 + 0.000)
£zl 2 |EEEE = HEiE X BEA X (ETIER + RIERE + RIEE + MEIER)
0.731 m3 = 0.300 * 0.530 * (4.600 + 0.000 + 0.000 + 0.000)
el 1 [#&E = (GRFIRE - HmiE) X FFPRIERE) + (FliE X (ZTER + RIEER + 3R + fEER))
1.380 m2 = ((0.000 — 0.300) % 0.000) + (0.300 % (4.600 + 0.000 + 0.000 + 0.000))
AR IH 1| HE = (IR - lE) X RFER) + (FliE X (ETIER + RIEER + SITEE + MEER))
1.380 m2 = ((0.000 — 0.300) * 0.000) + (0.300 * (4.600 + 0.000 + 0.000 + 0.000))
AT IH 2 FHE = (PR - %R X FFRER) + GFliE X (ETIER + RIER + RIIERE + MEIER))
1.380 m2 = ((0.000 — 0.300) % 0.000) + (0.300 % (4. 600 + 0.000 + 0.000 + 0.000))
PEHIHE O B L 1 | HE = ((fEFIE - SlE) X JEA X FREER) + (FlE X B X (ETERE + RIBERE + Y8R + MEIER))

0.427 m3 = ((0.000 - 0.300) * 0.310 * 0.000) + (0.300 * 0.310 * (4.600 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
| IBES | 15 | T#E&#% |[HHOETE N6 - &S [ o1 | J—r&F [d#E/315A/GW(EE)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (GRFIE - SEilE) X B X SRFRIER) + (FiE X JEA X (ETIER + RIEEE + TR + MEER))
0.400 m3 = ((0.000 — 0.300) * 0.290 * 0.000) + (0.300 * 0.290 * (4.600 + 0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.069 m3 = ((0.000 - 0.300) * 0.050 * 0.000) + (0.300 * 0.050 * (4.600 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.069 m3 = 0.069
Ay )E 1| HE = A LS
(FEHI) 0.427 m3 = 0. 427
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.731 m3 = 0.731
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T T & 2 %+ B & (8 & % )
HEtEEEES . 01000000
IEEE | 15 | IEAH |[HEEIS N4 = [ 02 | J—r&% [Hi#E/315A/GH#E)
& fi EHEEEEE A
4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (GEFREIE - W@ mbsg) X FmEIL) X Gk
1.500 m = ((1.500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.600) * 0.000)) * 1.000
LR 1 [BE = (GFIR - %iEiE) X #FRIER) + OHEE X (ETEE + [MER + AREE + MEER))
0.900 m2 = ((0.000 — 0.600) * 0.000) + (0.600 * (1.500 + 0.000 + 0.000 + 0.000))
e 1 [t = SEIE X Eh X (FTER + RRER + ARER + MELR)
0.279 m3 = 0.600 * 0.310 * (1.500 + 0.000 + 0.000 + 0.000)
e 2 [MmkiE = WEiE x B4 X (ELIEE + RIFLEE + AREE + MEER)
0.477 m3 = 0.600 * 0.530 * (1.500 + 0.000 + 0.000 + 0.000)
AL 1R 1 [BE = (PR - %iEie) X MEFRIER) + QR X (ETEE + [BER + AREE + MEER))
0.900 m2 = ((0.000 — 0.600) * 0.000) + (0.600 * (1.500 + 0.000 + 0.000 + 0.000))
BAZE IR 1 [BE = (PR - %iEi) X #FRIER) + QM X (ETEE + [MER + AREE + MEER))
0.900 m2 = ((0.000 — 0.600) * 0.000) + (0.600 * (1.500 + 0.000 + 0.000 + 0.000))
A1 I 2 [BE = (TR - @R X SEFRER) + Ohlig X (ETER + AEE + AMER + MEER))
0.900 m2 = ((0.000 — 0.600) * 0.000) + (0.600 * (1.500 + 0.000 + 0.000 + 0.000))
JEHIHD B L 1 [BE = (PR - %iEiE) X B4 X SFRER) + OREE X BEh X (ETER + AREE + AREE + MEER))

0.279 m3 = ((0.000 - 0.600) * 0.310 * 0.000) + (0.600 * 0.310 * (1.500 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
[ TrE®&= [ 15 | IiE&W [HOEEIE N=-6H# - rES | o2 | —ra#  |WE/315A/GERE)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (GRFIE - SEilE) X B X SRFRIER) + (FiE X JEA X (ETIER + RIEEE + TR + MEER))
0.261 m3 = ((0.000 — 0.600) * 0.290 * 0.000) + (0.600 * 0.290 * (1.500 + 0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.045 m3 = ((0.000 - 0.600) * 0.050 * 0.000) + (0.600 * 0.050 * (1.500 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.045 m3 = 0. 045
Ay )E 1| HE = A LS
(FEHI) 0.279 m3 = 0.279
Ay )E 2 |HE = wHIEE &
(HEHI) 0.477 m3 = 0.477
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T I % E H E & (8 &8 % )
RETEEESES . 01000000[ L #)HEE]
| IBES | 15 | T#E&#% |[HHOETE N6 = | 03 | I—F&F [FEESEF/GEEE)
J&E Fi | & |t 3 JL 151 / it 3 =
£l 1 [FE%E = (((REE X JBEA) - i) X (RTEER + fBEER)) + (Gl X JBEh X (RIFEE + 3ER))
0.637 m3 = (((0.600 * 0.410) — 0.001) * (2.600 + 0.000)) + (0.600 * 0.410 * (0.000 + 0.000))
£zl 2 |EEKE = WEIE X BEA X (ETER + KR + 3UEERE + MEIER)
0.733 m3 = 0.600 * 0.470 * (2.600 + 0.000 + 0.000 + 0.000)
AR IR 1 [%&E = (GRFIRE - HmiE) X BFFPRIERE) + (FliE X (ZTERE + RIEER + 3R + fEER))
1.560 m2 = ((0.000 - 0.600) * 0.000) + (0.600 * (2.600 + 0.000 + 0.000 + 0.000))
FARIE IR 2 |FHE = (PR - %R X FPRER) + GFEiE X (ETIER + RIERE + RIIERE + MEIER))
1.560 m2 = ((0.000 - 0.600) * 0.000) + (0.600 * (2.600 + 0.000 + 0.000 + 0.000))
PEHIHE O R L 1 [%&E = (GRFIE - HEiE) X BEA X BPHIER) + (FEiE X EA X (TR + RIER + RIER + fEER))
0.639 m3 = ((0.000 — 0.600) * 0.410 * 0.000) + (0.600 * 0.410 * (2.600 + 0.000 + 0.000 + 0.000))
PEHIHE O B L 2 |FE = (PR - %) X BA X FFRIER) + (FlE X BAh X (ETEE + RIEE + 3URERE + MEER))
0.436 m3 = ((0.000 — 0.600) * 0.280 * 0.000) + (0.600 * 0.280 * (2.600 + 0.000 + 0.000 + 0.000))
Ly e 1 |FE = IEBHE LS L&
(HEH) 0.637 m3 = 0.637
Ly e 2 |HE = EHlEE &
G 0.733 m3 = 0.733
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T I % E H++ 8 &8 (& # % )
BEEEEES . 01000000[ L H)FEHE]
| IEEE | 15 | IEAH |[HEEIS N4 [L—+&E | 04 | IW—r&%H |Rih/iE6/owWEEE)
E] EHEEE T
Hi5 1 1 [mdsci = (B X A - Fm) X (ETER + MEER)) + (iR X Eh X (KRR + ARER))
1.497 m3 = (((0.500 * 1.000) — 0.001) * (3.000 + 0.000)) + (0.500 * 1.000 * (0.000 + 0.000))
HREIELD & L 1 |5 = (TR - %EiE) X Fh X $FRER) + QR@EiE X BEx X (ETER + REE + RBEE + WMEIER))

1.500 m3 = ((0.000 - 0.500) * 1.000 * 0.000) + (0.500 * 1.000 * (3.000 + 0.000 + 0.000 + 0.000))
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T I % E H++ 8 &8 (& # % )
BEHEEEES ;- 01000000 4 HEEEE]
| IEEE | 15 | T#E4% |[#HRESTH N=64 = [ 05 | IW—Fr&#H |Eih/iE6/cGHE)
& R B i m A m S E m sk
it 1) 1 [k = ((QR@iE X 22 - Bk X (TR + MEER) + (@ X 85 X (RIEIER + AREE))
2.997 m3 = (((1.000 * 1.000) - 0.001) * (3.000 + 0.000)) + (1.000 * 1.000 * (0.000 + 0.000))
SR B L 1 [ = (TR - %oiR) X Bh X #FEER) + QRdiE X 85 X (FTHER + RIEEE + REEE + BELER))

3.000 m3 = ((0.000 - 1.000) * 1.000 * 0.000) + (1.000 * 1.000 * (3.000 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
RETEEEES . 01000000
IBES | 17 | T@E4% [BSi2eg#s - &S | o1 | J—he#  [EE/#E/GeowWTs (EE)
JE AR G . A S - v
b 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
3.500 m = ((3.500 + 0.000 + 0.000 + 0.000) + ((0.000 - 0.000) * 0.000)) * 1.000
ShLEHRHI 1%k = (GETiR - WimiE) X PEER) + QFliE X (RI3ER + RIEE + RIEEE + MEER))
1.225 m2 = ((0.000 - 0.350) * 0.000) + (0.350 * (3.500 + 0.000 + 0.000 + 0.000))
A 1| EmE = s X BEAR X (ETLER + RERE + RIERE + MEER)
0.662 m3 = 0.350 * 0.540 * (3.500 + 0.000 + 0.000 + 0.000)
A 2 |EEEE = WEiE X BEA X (ETHER + REEERE + RIEIERE + MEER)
0.796 m3 = 0.350 * 0.650 * (3.500 + 0.000 + 0.000 + 0.000)
LB 5| 1%k = (GETFiR - WiliE) X PRER) + QFliE X (RI13ER + REE + RIBEE + fMEER))
1.225 m2 = ((0.000 - 0.350) * 0.000) + (0.350 * (3.500 + 0.000 + 0.000 + 0.000))
EEEE 2 |HE = (PR - W) X EPEIER) + 5@ X (ETIERE + SR + SRt R + MEER))
1.225 m2 = ((0.000 - 0.350) * 0.000) + (0.350 * (3.500 + 0.000 + 0.000 + 0.000))
L[5 3 [HE = (GEPIE - 5EiE) X MRRER) + (iR X (ET3ERE + RER + fBERE + MEIERE))
1.225 m2 = ((0.000 - 0.350) * 0.000) + (0.350 * (3.500 + 0.000 + 0.000 + 0.000))
FRARAE A 1 |EkdE = (GEFiR - WimiE) X PEER) + QFliE X (EI3ER + RIEE + RIBEE + MEER))
1.225 m2 = ((0.000 - 0.350) * 0.000) + (0.350 * (3.500 + 0.000 + 0.000 + 0.000))
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T T % E 8 E E (fF B % )
REEEEES . 01000000[ L4 #)HEHE]
| IBES | 17 | T@E4% [BSi2eg#s - &S | o1 | J—he#  [EE/#E/GeowWTs (EE)
JEFER EN Gl B M. il / 7t B =
HARIE IR 2 & = (PR - SR X FFRIER) + O5@iE X (BTIER + RIERE + IR + WMEIER))
1.225 m2 = ((0.000 — 0.350) * 0.000) + (0.350 * (3.500 + 0.000 + 0.000 + 0.000))
PEHIHR O R L 1 |[FE = (PR - HEE) X BELs X fFRRIER) + (F@iE X BEh X (RTEE + REE + 3UEE + fEER))
0.662 m3 = ((0.000 — 0.350) * 0.540 * 0.000) + (0.350 * 0.540 * (3.500 + 0.000 + 0.000 + 0.000))
7% A5y 1 [EhEEEEE = (PR - %R X Ea X HFREIER) + (F@iE X BEi X (RITEE + KRR + 3UEE + fIEER))
(S AEHm ) 0.123 m3 = ((0.000 - 0.350) * 0.100 * 0.000) + (0.350 * 0.100 * (3.500 + 0.000 + 0.000 + 0.000))
iy e 1 & = GiEERHE S R
(G 0.123 m3 = 0.123
By e 1 |FE = WHE e &
(B 1) 0.662 m3 = 0.662
By e 2 |%E = WHIEE L&
() 0.796 m3 = 0.796
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T T % E 8 E E (fF B % )
RETEEEES . 01000000
TBEE [ 17 | Ime%m [BRIAEERE [L—-+rES | o2 | —he#  |dE/#E/G50WT5 (BE)
JE AR G . A S - v
b 1 MR = (FTER + RIWVEE + TR + WEER) + (WEFRANE - @imEg) X PRE)) < ke
2.800 m = ((2.800 + 0.000 + 0.000 + 0.000) + ((0.000 - 0.350) * 0.000)) * 1.000
b Bl 1%k = (GETiR - WimiE) X PEER) + QFliE X (RI3ER + RIEE + RIEEE + MEER))
0.980 m2 = ((0.000 - 0.350) * 0.000) + (0.350 * (2.800 + 0.000 + 0.000 + 0.000))
A 1 M@ = HEE X EA X (LTHEE + MEERE + sUREE + MEIEE)
0.931 m3 = 0.350 * 0.950 * (2.800 + 0.000 + 0.000 + 0.000)
T 2 [MEkE = iR X EA X (ELER + RIERE + RIBER + MEER)
0.235 m3 = 0.350 * 0.240 * (2.800 + 0.000 + 0.000 + 0.000)
LB 5| 1%k = (GETFiR - WiliE) X PRER) + QFliE X (RI13ER + REE + RIBEE + fMEER))
0.980 m2 = ((0.000 - 0.350) * 0.000) + (0.350 * (2.800 + 0.000 + 0.000 + 0.000))
EEAEE IH 1%k = (GETIR - WimiE) X PEER) + QFliE X (RI3ER + RIEE + RIEEE + MEER))
0.980 m2 = ((0.000 - 0.350) * 0.000) + (0.350 * (2.800 + 0.000 + 0.000 + 0.000))
AR IH 2 |HE = (PR - WEiE) X EPRIEE) + 5@ X (ETIEE + SR + SIBER + WEER))
0.980 m2 = ((0.000 - 0.350) * 0.000) + (0.350 * (2.800 + 0.000 + 0.000 + 0.000))
HHEIFR DR L 1 |EkdE = (GETiR - WiliE) X B4 X SREIERE) + (@R X ER X (ETHEE + RiER + fiFEE + MEIERE))

0.931 m3 = ((0.000 — 0.350) * 0.950 * 0.000) + (0.350 * 0.950 * (2.800 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BEHEEEES . 01000000[ 4] 5 =]
IBEE | 17 | IBEWm |BRIAERE [\-+ES | 02 | W—ra#  [mE/#E/GoowTs (HE)
[ELE FH A
R 1 (AR = (TR - MmiE) X 54 X FHER) « (Rl X 54 X (ETEE « AEE + TR + MEEE))
(GBS ) 0.049 m3 = ((0.000 - 0.350) * 0.050 * 0.000) + (0.350 * 0.050 * (2.800 + 0.000 + 0.000 + 0.000))
58 U [Bh = g U L
(EliZEdm i) 0.049 m3 = 0. 049
&y E 1 [ = WA UE LR
(HRHI) 0.931 m3 = 0.931
58 2 [l = fmEI2E 1k
(HRHI) 0.235 m3 = 0.235
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T T & 2 %+ B & (8 & % )
HEtEEEES . 01000000
TiEES | 07 | THE&W  [AKEI HPPE ¢ 75 L=4.6m [L—+&E | o1 | W—t&% |ORE/EEE)
[EE] EHEEEEE A
4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - M@ mbg) X FmEIL) X Gk
4.500 m = ((4.500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) * 1.000
LR 1 [BE = (GFIR - %iEiE) X #FRIER) + OHEE X (ETEE + [MER + AREE + MEER))
3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
e 1 [t = SEIE X Eh X (FTER + RRER + ARER + MELR)
1.012 m3 = 0.750 * 0.300 * (4.500 + 0.000 + 0.000 + 0.000)
e 2 [MmkiE = WEiE x B4 X (ELIEE + RIFLEE + AREE + MEER)
3.982 m3 = 0.750 * 1.180 * (4.500 + 0.000 + 0.000 + 0.000)
AL 1R 1 [BE = (PR - %iEie) X MEFRIER) + QR X (ETEE + [BER + AREE + MEER))
3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
M A o [BE = (TG - %EE) X SFRER) + OhliE X (ETER + AREE + AMER + WMEER))
3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
AL 1R 3 [BcE = (TR - %) X FRIER) + OREE X (TR + AREE + RIER + MALERE))
3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
BAZIE IR 1 [BE = (PR - %iEi) X MFRIER) + QM X (ETEE + [BER + AREE + MEER))
3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
[ %5 | o7 | TI#E4&%M [A%K#E1 HPPE ¢ 75 L=46m [-rEE [ of | W—tak [DRE/USES)
JEFE R IEI Gl B Al 15l / it B M
HRAZE IH 2 |EdE = (GRFIE - SR X MFRER) + GFEE X (ETERE + RIBEE + BY8ER + MEER))
3.375 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
FEEIE D R L 1 | = ((fEFIE - SlE) X JEA X FREERE) + (Mg X B X (ETERE + RIBERE + B8R + EIER))
1.012 m3 = ((0.000 — 0.750) * 0.300 * 0.000) + (0.750 * 0.300 * (4.500 + 0.000 + 0.000 + 0.000))
FEEIE D R L 2 | = (GRFIE - SEilE) X JEA X RFER) + (Rl X JER) - FEfd) X LIER) + GREE X B4 X (RIEEE + RIEERE + MELER))
1.845 m3 = ((0.000 — 0.750) * 0.580 * 0.000) + (((0.750 * 0.580) — 0.025) * 4.500) + (0.750 * 0.580 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&EHRE R = (PR - SEIRE) X JBEA X MFRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + WMELER))
SRS 0.337 m3 = ((0.000 - 0.750) * 0.100 * 0.000) + (0.750 * 0.100 * (4.500 + 0.000 + 0.000 + 0.000))
Ay )E 1 i = SR g
(ElZE9m ) 0.337 m3 = 0.337
Ay E 1| FE = A LS
(FEH) 1.012 m3 = 1.012
Ay )E 2 |HE = wHIEE L&
(HEHI) 3.982 m3 = 3.982
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+T T &% E ft E & (& B % )
RETEEEES . 01000000
IEES | 07 | TIE&#  |AHKEI HPPE ¢75 L=4.6m L-rES | o2 | —teH  |@8i#E/ %%/ GoWTs (B E)
JEFER IEI il B AP 15l / it B M
RO 1 | = (TR + RIEVER + BIUER + BEER) + (FEFRAE - S@imElE X MFRETE)) X SRk
3.009 m = ((3.009 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 0.000)) * 1.000
LRl 1 |FE = (@EFRE - SEE) X MFRER) + GRlig X (ETIER + RIER + RIBLER + MEER))
0.977 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (3.009 + 0.000 + 0.000 + 0.000))
JHE I 1 s = %R X B X (ELERE + RIEERE + RIBLEE + WEER)
0.293 m3 = 0.325 * 0.300 * (3.009 + 0.000 + 0.000 + 0.000)
I 2 Wi = HEiE X JEAR X (RTER + RIEER + 3UEIER + MEIER)
1.007 m3 = 0.325 * 1.030 * (3.009 + 0.000 + 0.000 + 0.000)
IR 1 [ HE = ((fEFIE - SmE) X RTFER) + (FliE X (BTIER + RIEEERE + TR + MEER))
0.977 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (3.009 + 0.000 + 0.000 + 0.000))
EiEIEIH 2 |EE = (GEFE - FEiE) X FRFEEER) + (5@E X (ETIER + RIERE + TR + MEER))
0.977 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (3.009 + 0.000 + 0.000 + 0.000))
R 3 [ = ((EFiE - HiEhE) X MFHER) + GFEE X (ETERE + RIBERE + BY8ER + MEER))
0.977 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (3.009 + 0.000 + 0.000 + 0.000))
HRARE IH 1 |FE = (GEFR - SEE) X MFRER) + GRlig X (ETIER + RIER + RIBLER + MEER))
0.977 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (3.009 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
| T@&s | 07 | TI#E&# |&KHKEI HPPE ¢75 L=4.6m L-rES | o2 | —teH  |@8i#E/ %%/ GoWTs (B E)
JEFER IEI il B AP 15l / it B M
RAZE IH 2 |EdE = (GRFIE - SR X MFRER) + GFERE X (ETERE + RIBERE + JBY8ER + MEER))
0.977 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (3.009 + 0.000 + 0.000 + 0.000))
FEEIE D R L 1 | = ((fEFIE - SlE) X JEA X FREERE) + (Mg X B X (ETERE + RIBERE + B8R + EIER))
0.293 m3 = ((0.000 — 0.325) * 0.300 * 0.000) + (0.325 * 0.300 * (3.009 + 0.000 + 0.000 + 0.000))
FEEIE D R L 2 |EE = (BEFIE - FEiE) X JBEA X MFER) + (F@EiR X BER) - FEfH) X LTER) + GRlilg X B X (RIER + 3UBERE + MELER))
0.345 m3 = ((0.000 — 0.325) * 0.430 * 0.000) + (((0.325 % 0.430) - 0.025) * 3.009) + (0.325 * 0.430 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&EHRE R = (PR - SEIRE) X JBEA X MFRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + WMELER))
SRS 0.097 m3 = ((0.000 - 0.325) * 0.100 * 0.000) + (0.325 % 0.100 * (3.009 + 0.000 + 0.000 + 0.000))
Ay )E 1 i = SR g
(ElZE9m ) 0.097 m3 = 0.097
Ay E 1| FE = A LS
(FEHI) 0.293 m3 = 0.293
Ay )E 2 |EdE = WEHIZ2E L E
(HEHI) 1.007 m3 = 1.007
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T I &% E B R E (& B %)
BRETEEEES 01000000

IEES | 07 | TIE&#  |AHKEI HPPE ¢75 L=4.6m L-rES | 03 | —ta¥ |@iiE/fEE/G50WT5 (BE)

JE TR ER G S A N S

RO 1 | = (TR + RIEVER + BIUER + BEER) + (FEFRAE - S@imElE X MFRETE)) X SRk
0.410 m = ((0.410 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 0.000)) * 1.000

LRl 1 |FE = (GEFRE - SEE) X MFRER) + (C5F8E - B8R X (ETER + MEER)) + CGFBE X GRIBIEE + AITER))
0.133 m2 = ((0.000 - 0.325) * 0.000) + ((0.325 — 0.000) * (0.410 + 0.000)) + (0.325 * (0.000 + 0.000))

JHE I 1 |[FEscE = ((Fdilg X BER) - @) X (TR + fEER)) + (F@ilR X ES X GRIBIEE + ITEE))
0.093 m3 = (((0.325 % 0.710) — 0.002) % (0.410 + 0.000)) + (0.325 % 0.710 * (0.000 + 0.000))

I 2 Wi = HEiE X JEAR X (RTER + RIEER + 3UEIER + MEIER)
0.077 m3 = 0.325 * 0.580 * (0.410 + 0.000 + 0.000 + 0.000)

IR 1 [ HE = ((fEFIE - SmE) X RTFER) + (FliE X (BTIER + RIEEERE + TR + MEER))
0.133 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (0.410 + 0.000 + 0.000 + 0.000))

HRARE IH 1 |FE = (GEFR - SEE) X MFRER) + GRlig X (ETIER + RIER + RIBLER + MEER))
0.133 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (0.410 + 0.000 + 0.000 + 0.000))

PRAZE IH 2 |EdE = (GRFIE - SR X MFRER) + GFERE X (ETERE + RIBEE + 3BY8ER + MEIER))
0.133 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (0.410 + 0.000 + 0.000 + 0.000))

FEEIE DR L 1 | HE = ((fEFIE - SlE) X JEA X FREER) + (FlE X B X (ETERE + RIBERE + Y8R + MEIER))

0.094 m3 = ((0.000 - 0.325) * 0.710 * 0.000) + (0.325 % 0.710 * (0.410 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
| T@&s | 07 | TI#E&# |&KHKEI HPPE ¢75 L=4.6m L-rES | 03 | —taH |@mi#/Fk/GsoWTs (EE)
JEFER IEI il B AP 15l / it B M
JEHIH D R L 2 |E&E = (BEFIE - FliE) X JBEA X MFER) + (F@iR X BER) - FEfH) X ETER) + GRlilg X B X (RIER + 3UBERE + MELER))
0.042 m3 = ((0.000 — 0.325) * 0.340 * 0.000) + (((0.325 * 0.340) - 0.006) * 0.410) + (0.325 * 0.340 * (0.000 + 0.000 + 0.000))
Ay e 1 |EEHRHEGR = (GEFIE - S8R X JBEAR X #BPRER) + (5@l X EA) - Bl X (ELIERE + MEER)) + (F#liE X JEL X (RIBLEE + 348
ER))
CEES D) 0.005 m3 = ((0.000 - 0.325) * 0.050 * 0.000) + (((0.325 * 0.050) — 0.002) * (0.410 + 0.000)) + (0.325 * 0.050 * (0.000 + 0.000))
Ay )E 1 i = SR g
(Bl 2E9mH) 0.005 m3 = 0.005
Ay E 1| FE = A LS
(FEHI) 0.093 m3 = 0.093
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.077 m3 = 0.077
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T T % E 8 E E (fF B % )
BEEEEES . 01000000

IEES | 08 | THE&M |AHKEI HPPE ¢50 L=6.6m L-rES | or | —te¥  |@mhiE/FE%/G5ows0 (i)

Ji@ Fi | FH A

LT 1 [ = (BTERE + RIBVIEE + RUMEE + HOHEE) + (GERREE - % @miim) X SFmEpk) X oWk
6.218 m = ((6.218 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 0.000)) * 1.000

EES 1 [ = (PR - %) X SEREE) + OG5l X (ETEE + RIREE + AR + HEER))
2.020 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (6.218 + 0.000 + 0.000 + 0.000))

] 1 [l = %aliE X 84 X (ETHER + RMER + aIERE + MIER)
0.626 m3 = 0.325 * 0.310 * (6.218 + 0.000 + 0.000 + 0.000)
] 2[R = iR X EA X (LTHEE + RIBER + AMIEE + MEER)

1.111 m3 = 0.325 * 0.550 * (6.218 + 0.000 + 0.000 + 0.000)

EETAlE 1 [ = (PR - %) X MERCEE) + OR@iE X (ETEE + RIRIEE + SRR + MEER))
2.020 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (6.218 + 0.000 + 0.000 + 0.000))

A I 1 [ = (PR - %) X MERCEE) + OG5l X (ETEE + RIREE + REE + HEER))
2.020 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (6.218 + 0.000 + 0.000 + 0.000))

AR H 2 [ = (GRTIR - %imiE) X MFIRIEE) + 8 X (TR + RIBLEE + RIMLEE + MELE))
2.020 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (6.218 + 0.000 + 0.000 + 0.000))

TECa 1 [ = (PR - @) X B4 X SFEEE) + GREE X B2 X (ETER + RIBERE + RAMLEE + MELE))

0.626 m3 = ((0.000 — 0.325) * 0.310 * 0.000) + (0.325 * 0.310 * (6.218 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
[ TrE®&E | 08 | THE&M [AHKi#1 HPPE ¢50 L=66m [\-r&S | or | —te¥  |@mhiE/FE%/G5ows0 (i)
JEFER IEI il B AP 15l / it B M
JEHIH D R L 2 |E&E = (BEFIE - FliE) X JBEA X MFER) + (F@iR X BER) - FEfH) X ETER) + GRlilg X B X (RIER + 3UBERE + MELER))
0.620 m3 = ((0.000 — 0.325) * 0.310 * 0.000) + (((0.325 * 0.310) — 0.001) * 6.218) + (0.325 * 0.310 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.101 m3 = ((0.000 — 0.325) * 0.050 * 0.000) + (0.325 * 0.050 * (6.218 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(GHAEHRH]) 0.101 m3 = 0. 101
Ay )E 1| HE = A LS
(FEHI) 0.626 m3 = 0.626
Ay )E 2 | = WEHIZE2E LA
(FEH) 1.111 m3 = 1.111
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T T % E 8 E E (fF B % )
BEEEEES . 01000000

IEES | 10 | TIE&#M  |AHKE2 HPPE ¢50 L=64.8m - rES | or | —te¥  |@mhiE/FE%/G5ows0 (i)

Ji@ Fi | FH A

LT 1 [ = (BTERE + RIBVIEE + RUMEE + HOHEE) + (GERREE - % @miim) X SFmEpk) X oWk
8.100 m = ((8.100 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 0.000)) * 1.000

EES 1 [ = (PR - %) X SEREE) + OG5l X (ETEE + RIREE + AR + HEER))
2.632 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (8.100 + 0.000 + 0.000 + 0.000))

] 1 [l = %aliE X 84 X (ETHER + RMER + aIERE + MIER)
0.816 m3 = 0.325 * 0.310 * (8.100 + 0.000 + 0.000 + 0.000)
] 2[R = iR X EA X (LTHEE + RIBER + AMIEE + MEER)

1.447 m3 = 0.325 * 0.550 * (8.100 + 0.000 + 0.000 + 0.000)

EETAlE 1 [ = (PR - %) X MERCEE) + OR@iE X (ETEE + RIRIEE + SRR + MEER))
2.632 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (8.100 + 0.000 + 0.000 + 0.000))

A I 1 [ = (PR - %) X MERCEE) + OG5l X (ETEE + RIREE + REE + HEER))
2.632 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (8.100 + 0.000 + 0.000 + 0.000))

AR H 2 [ = (GRTIR - %imiE) X MFIRIEE) + 8 X (TR + RIBLEE + RIMLEE + MELE))
2.632 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (8.100 + 0.000 + 0.000 + 0.000))

TECa 1 [ = (PR - @) X B4 X SFEEE) + GREE X B2 X (ETER + RIBERE + RAMLEE + MELE))

0.816 m3 = ((0.000 — 0.325) * 0.310 * 0.000) + (0.325 * 0.310 * (8.100 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
[ TrE®E= [ 10 | T#E4&% [AHKi#2 HPPE ¢50 L=648m [\-r&E | or | —te¥  |@mhiE/FE%/G5ows0 (i)
JEFER IEI il B AP 15l / it B M
JEHIH D R L 2 |E&E = (BEFIE - FliE) X JBEA X MFER) + (F@iR X BER) - FEfH) X ETER) + GRlilg X B X (RIER + 3UBERE + MELER))
0.807 m3 = ((0.000 — 0.325) * 0.310 * 0.000) + (((0.325 * 0.310) — 0.001) * 8.100) + (0.325 * 0.310 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.131 m3 = ((0.000 — 0.325) * 0.050 * 0.000) + (0.325 * 0.050 * (8.100 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(GHAEHRH]) 0.131 m3 = 0.131
Ay )E 1| HE = A LS
(FEHI) 0.816 m3 = 0.816
Ay )E 2 | = WEHIZE2E LA
(HEHI) 1.447 m3 = 1.447

_60_

kT 2 AKE R




T T % E 8 E E (fF B % )
BEEEEES . 01000000

IEES | 10 | TIE&#M  |AHKE2 HPPE ¢50 L=64.8m - rES | 02 | —ta#  |@miE/FE%/G50Ws0 (i)

Ji@ Fi | FH A

LT 1 [ = (BTERE + RIBVIEE + RUMEE + HOHEE) + (GERREE - % @miim) X SFmEpk) X oWk
49.417 m = ((49.417 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 0.000)) * 1.000

EES 1 [ = (PR - %) X SEREE) + OG5l X (ETEE + RIREE + AR + HEER))
16.060 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (49.417 + 0.000 + 0.000 + 0.000))

] 1 [l = %aliE X 84 X (ETHER + RMER + aIERE + MIER)
4.978 m3 = 0.325 * 0.310 * (49.417 + 0.000 + 0.000 + 0.000)
] 2[R = iR X EA X (LTHEE + RIBER + AMIEE + MEER)

8.833 m3 = 0.325 * 0.550 * (49.417 + 0.000 + 0.000 + 0.000)

EETAlE 1 [ = (PR - %) X MERCEE) + OR@iE X (ETEE + RIRIEE + SRR + MEER))
16.060 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (49.417 + 0.000 + 0.000 + 0.000))

A I 1 [ = (PR - %) X MERCEE) + OG5l X (ETEE + RIREE + REE + HEER))
16.060 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (49.417 + 0.000 + 0.000 + 0.000))

AR H 2 [ = (GRTIR - %imiE) X MFIRIEE) + 8 X (TR + RIBLEE + RIMLEE + MELE))
16.060 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (49.417 + 0.000 + 0.000 + 0.000))

TECa 1 [ = (PR - @) X B4 X SFEEE) + GREE X B2 X (ETER + RIBERE + RAMLEE + MELE))

4.978 m3 = ((0.000 — 0.325) * 0.310 * 0.000) + (0.325 * 0.310 * (49.417 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
[ TrE®E= [ 10 | T#E4&% [AHKi#2 HPPE ¢50 L=648m [\-r&E | 02 | —ta#  |@miE/FE%/G50Ws0 (i)
JEFER IEI il B AP 15l / it B M
JEHIH D R L 2 |E&E = (BEFIE - FliE) X JBEA X MFER) + (F@iR X BER) - FEfH) X ETER) + GRlilg X B X (RIER + 3UBERE + MELER))
4.879 m3 = ((0.000 - 0.325) * 0.310 * 0.000) + (((0.325 * 0.310) — 0.002) * 49.417) + (0.325 * 0.310 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.803 m3 = ((0.000 — 0.325) * 0.050 * 0.000) + (0.325 * 0.050 * (49.417 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.803 m3 = 0.803
Ay )E 1| HE = A LS
(FEHI) 4.978 m3 = 4.978
Ay )E 2 | = WEHIZE2E LA
(HEHI) 8.833 m3 = 8.833
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T T % E 8 E E (fF B % )
BEEEEES . 01000000

IEES | 10 | TIE&#M  |AHKE2 HPPE ¢50 L=64.8m - rES | 03 | —taH  |@miE/ g8/ Gsows0 i)

Ji@ Fi | FH A

EESL 1 [ = (PR - %) X MEREE) + ORliE X (ETIEE + RIRIEE + URIERE + WEER))
0.800 m2 = ((0.000 - 0.500) * 0.000) + (0.500 * (1.600 + 0.000 + 0.000 + 0.000))

] 1 [lskE = %aliE X 84 X (TR + [ER + AIERE + MEER)
0.248 m3 = 0.500 * 0.310 * (1.600 + 0.000 + 0.000 + 0.000)
] 2 (B = iR X A X (ETIERE + RIBER + AMIEE + MEER)

0.560 m3 = 0.500 * 0.700 * (1.600 + 0.000 + 0.000 + 0.000)

SR 1 [ = (PR - %) X MEREE) + OBl X (ETHEE + RIREE + AREE + BEER))
0.800 m2 = ((0.000 — 0.500) * 0.000) + (0.500 * (1.600 + 0.000 + 0.000 + 0.000))

AR H 1 [ = (PR - %) X MERCEE) + OR@iE X (ETEE + RIRIEE + SRR + MEER))
0.800 m2 = ((0.000 - 0.500) * 0.000) + (0.500 * (1.600 + 0.000 + 0.000 + 0.000))

A I o B = (GEFIR - %imiE) X SFRIEE) + G8MiE X (TR + RIBLEE + RMLE + MELER))
0.800 m2 = ((0.000 - 0.500) * 0.000) + (0.500 * (1.600 + 0.000 + 0.000 + 0.000))

HRHELD R L 1 [BE = (P - %aiE) X 22 X MFHER) + GRliE X 22 X (LTHER + /WER + AMRIEE + MEER))
0.248 m3 = ((0.000 - 0.500) * 0.310 * 0.000) + (0.500 * 0.310 * (1.600 + 0.000 + 0.000 + 0.000))
TECa o B = (GETIE - %imiE) X Ex X MFRIER) + (@i X B4 - Fm) X LT TER) + (5l X B4 X QIRIEE + ARIEE + BEER))

0.364 m3 = ((0.000 — 0.500) * 0.460 * 0.000) + (((0.500 * 0.460) — 0.002) * 1.600) + (0.500 * 0.460 * (0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
[ TrE®E= [ 10 | T#E4&% [AHKi#2 HPPE ¢50 L=648m [\-r&E | 03 | —taH  |@miE/ g8/ Gsows0 i)
JEFER IEI il B AP 15l / it B M
Ay )E 1 |&ERA G = (IR - SliE) X JEA X EFEER) + GRlME X B4 X (LTERE + RIBEE + JB8ER + EER))
(Bl ZE9mH]) 0.040 m3 = ((0.000 — 0.500) * 0.050 * 0.000) + (0.500 * 0.050 * (1.600 + 0.000 + 0.000 + 0.000))
Ay E 1 |[FE = SEEEAEUE LR
SRS 0.040 m3 = 0. 040
Ay )E 1 i = SR LE
(HEHI) 0.248 m3 = 0.248
Ay )E 2 |FiE = WEHIZEE L&
(FEHI) 0.560 m3 = 0.560
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T I &% E B R E (& B %)
RETEEEES . 01000000

IEES | 10 | TIE&#M  |AHKE2 HPPE ¢50 L=64.8m - rES [ o4 | —r&% [AmiE/ak/W50 (GElE)

JEFER IEI il B AP 15l / it B M

RO 1 | = (TR + RIEVER + BIUER + BEER) + (FEFRAE - S@imElE X MFRETE)) X SRk
7.900 m = ((3.950 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.600) * 0.000)) * 2.000

LRl 1 |FE = (@EFRE - SEE) X MFRER) + GRlig X (ETIER + RIER + RIBLER + MEER))
2.370 m2 = ((0.000 — 0.600) * 0.000) + (0.600 * (3.950 + 0.000 + 0.000 + 0.000))

I 1 s = %R X B X (ELERE + RIEERE + RIBLEE + WEER)
0.734 m3 = 0.600 * 0.310 * (3.950 + 0.000 + 0.000 + 0.000)

I 2 Wi = HEiE X JEAR X (RTER + RIEER + 3UEIER + MEIER)
1.303 m3 = 0.600 * 0.550 * (3.950 + 0.000 + 0.000 + 0.000)

IR 1 [ HE = ((fEFIE - SmE) X RTFER) + (FliE X (BTIER + RIEEERE + TR + MEER))
2.370 m2 = ((0.000 - 0.600) * 0.000) + (0.600 * (3.950 + 0.000 + 0.000 + 0.000))

HRARE IH 1 |FE = (GEFR - SEE) X MFRER) + GRlig X (ETIER + RIER + RIBLER + MEER))
2.370 m2 = ((0.000 — 0.600) * 0.000) + (0.600 * (3.950 + 0.000 + 0.000 + 0.000))

PRAZE IH 2 |EdE = (GRFIE - SR X MFRER) + GFERE X (ETERE + RIBEE + 3BY8ER + MEIER))
2.370 m2 = ((0.000 - 0.600) * 0.000) + (0.600 * (3.950 + 0.000 + 0.000 + 0.000))

FEEIE DR L 1 |FEE = (@EFR - SEE) X ESR X FREER) + GFBE X B X (ETER + RIFER + BBER + MEER))

0.734 m3 = ((0.000 — 0.600) * 0.310 * 0.000) + (0.600 * 0.310 * (3.950 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
[ TrE®E= [ 10 | T#E4&% [AHKi#2 HPPE ¢50 L=648m [\-r&E [ 04 [ J—F&FH [AmiE/7EE/ W50 (GE1E)
JEFER IEI il B AP 15l / it B M
JEHIH D R L 2 |E&E = (BEFIE - FliE) X JBEA X MFER) + (F@iR X BER) - FEfH) X ETER) + GRlilg X B X (RIER + 3UBERE + MELER))
0.726 m3 = ((0.000 — 0.600) * 0.310 * 0.000) + (((0.600 * 0.310) - 0.002) * 3.950) + (0.600 * 0.310 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.118 m3 = ((0.000 - 0.600) * 0.050 * 0.000) + (0.600 * 0.050 * (3.950 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.118 m3 = 0.118
Ay )E 1| HE = A LS
(FEHI) 0.734 m3 = 0.734
Ay )E 2 | = WEHIZE2E LA
(HEHI) 1.303 m3 = 1.303
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+T T &% E ft E & (& B % )
RETEEEES . 01000000
IEES | 10 | TIE&#M  |AHKE2 HPPE ¢50 L=64.8m - rES | 05 | —tawm  |hE/oE/wso i)
JEFE R EI Gl B AP 15l / it B M
(RSl 1 [ HE = ((fEFIE - SmE) X RTFER) + (FliE X (ETIER + RIEIEE + TR + MEER))
2.527 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (1.685 + 0.000 + 0.000 + 0.000))
I 1 |EEEE = SR X B X (ELER + RIEERE + RIBLEE + WEER)
0.783 m3 = 1.500 * 0.310 * (1.685 + 0.000 + 0.000 + 0.000)
JHE I 2 | = FEiE X JEAR X (RTIER + RIER + 3URIER + MBI R)
1.769 m3 = 1.500 * 0.700 * (1.685 + 0.000 + 0.000 + 0.000)
el 1| HE = ((fEFIRE - lE) X RFER) + (FlE X (ETIER + RIEER + TR + MEER))
2.527 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (1.685 + 0.000 + 0.000 + 0.000))
PRAZAE IH 1 [ HE = ((fEFIE - SmE) X RTFER) + (FliE X (BTIER + RIEEERE + TR + MEER))
2.527 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (1.685 + 0.000 + 0.000 + 0.000))
HRARE IH 2 |EdE = (GRFIE - SR X MFRER) + GFER X (ETERE + RIBERE + Y8R + MEIER))
2.527 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (1.685 + 0.000 + 0.000 + 0.000))
FEEIE D R L 1\ HE = ((fEFIE - SliE) X JEA X EFRIERE) + (RlE X B4 X (ETERE + RIBEE + JBJ8ER + EER))
0.783 m3 = ((0.000 — 1.500) * 0.310 * 0.000) + (1.500 * 0.310 * (1.685 + 0.000 + 0.000 + 0.000))
FEEIE DR L 2 |EE = (GEFIE - FEiE) X JBEh X MPRER) + (FaEE X BER) - FEfH) X ETER) + GRlig X B X (RIER + 3UBER + MEER))
1.159 m3 = ((0.000 — 1.500) * 0.460 * 0.000) + (((1.500 * 0.460) — 0.002) * 1.685) + (1.500 * 0.460 * (0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
| T@®%s | 10 | TIE&#M |£KHKE2 HPPE ¢50 L=64.8m - rES | 05 | —tawm  |hE/oE/wso i)
JEFE R EI Gl B AP 15l / it B M
Ay )E 1 |&ERA G = (IR - SliE) X JEA X EFEER) + GRlME X B4 X (LTERE + RIBEE + JB8ER + EER))
(Bl ZE9mH]) 0.126 m3 = ((0.000 - 1.500) * 0.050 * 0.000) + (1.500 * 0.050 * (1.685 + 0.000 + 0.000 + 0.000))
Ay E 1 |[FE = SEEEAEUE LR
SRS 0.126 m3 = 0.126
Ay )E 1 i = SR LE
(HEHI) 0.783 m3 = 0.783
Ay )E 2 |FiE = WEHIZEE L&
(FEHI) 1.769 m3 = 1.769
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T T & 2 %+ B & (8 & % )
HEtEEEES . 01000000

TiEES | 13 | TESAH [RBHPEIE 650 N1 = | o1 | —r&F |d#E/ %/ W50 GElE)

[EE] EHEEEEE A

4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - M@ mbg) X FmEIL) X Gk
4.140 m = ((3.270 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.600) * 2.000)) * 2.000

LR 1 [BE = (GFIR - %iEiE) X #FRIER) + OHEE X (ETEE + [MER + AREE + MEER))
1.962 m2 = ((0.000 - 0.600) * 0.000) + (0.600 * (3.270 + 0.000 + 0.000 + 0.000))

e 1 [t = SEIE X Eh X (FTER + RRER + ARER + MELR)
0.608 m3 = 0.600 * 0.310 * (3.270 + 0.000 + 0.000 + 0.000)
e 2 [MmkiE = WEiE x B4 X (ELIEE + RIFLEE + AREE + MEER)

1.079 m3 = 0.600 * 0.550 * (3.270 + 0.000 + 0.000 + 0.000)

AL 1R 1 [BE = (PR - %iEie) X MEFRIER) + QR X (ETEE + [BER + AREE + MEER))
1.962 m2 = ((0.000 - 0.600) * 0.000) + (0.600 * (3.270 + 0.000 + 0.000 + 0.000))

BAZE IR 1 [BE = (PR - %iEi) X #FRIER) + QM X (ETEE + [MER + AREE + MEER))
1.962 m2 = ((0.000 - 0.600) * 0.000) + (0.600 * (3.270 + 0.000 + 0.000 + 0.000))

A1 I 2 [BE = (TR - @R X SEFRER) + Ohlig X (ETER + AEE + AMER + MEER))
1.962 m2 = ((0.000 - 0.600) * 0.000) + (0.600 * (3.270 + 0.000 + 0.000 + 0.000))

JEHIHD B L 1 [BE = (PR - %iEiE) X B4 X SFRER) + OREE X BEh X (ETER + AREE + AREE + MEER))

0.608 m3 = ((0.000 — 0.600) * 0.310 * 0.000) + (0.600 * 0.310 * (3.270 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
| TiE®&E | 13 | TiEEH [AHEHEIZE ¢50 N1 L-+ES | or | —rewm  |tE/ AR/ wso i)
JEFE R IEI Gl B Al 15l / it B M
JEHIH D R L 2 | = (GRFIE - SEilE) X JEA X SRFRER) + ((CF@iE X JER) - FEfd) X LIER) + GREE X B4 X (RIEEE + RIEEE + MELER))
0.601 m3 = ((0.000 — 0.600) * 0.310 * 0.000) + (((0.600 * 0.310) - 0.002) * 3.270) + (0.600 * 0.310 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.098 m3 = ((0.000 - 0.600) * 0.050 * 0.000) + (0.600 * 0.050 * (3.270 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.098 m3 = 0.098
Ay )E 1| HE = A LS
(FEHI) 0.608 m3 = 0.608
Ay )E 2 |HE = wHIEE &
(HEHI) 1.079 m3 = 1.079
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T T & 2 %+ B & (8 & % )
HEtEEEES . 01000000

TEES | 14 | TESAH [REHIMREBEGETE N = | o1 | —b&F |#E/AER/WIS(EE)

[EE] EHEEEEE A

4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - M@ mbg) X FmEIL) X Gk
3.340 m = ((2.270 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.600) * 1.000)) * 2.000

LR 1 [BE = (PR - %iEiR) X MFRIER) + (OFliE - S8R X (LTEE + MEER) + (@R X (REEE + ARER))
1.362 m2 = ((0.000 - 0.600) * 0.000) + ((0.600 — 0.000) * (2.270 + 0.000)) + (0.600 * (0.000 + 0.000))

e 1 [k = (G X 270 - FEE) X (LTHEE « MEER)) + GREME X E4 X (REEE + RIEE))
0.962 m3 = (((0.600 * 0.710) — 0.002) * (2.270 + 0.000)) + (0.600 * 0.710 * (0.000 + 0.000))
e 2 [MmkiE = WEiE x B4 X (ELIEE + RIFLEE + AREE + MEER)

0.789 m3 = 0.600 * 0.580 * (2.270 + 0.000 + 0.000 + 0.000)

AL 1R 1 [BE = (PR - %iEie) X MEFRIER) + QR X (ETEE + [BER + AREE + MEER))
1.362 m2 = ((0.000 - 0.600) * 0.000) + (0.600 * (2.270 + 0.000 + 0.000 + 0.000))

BAZE IR 1 [BE = (PR - %iEi) X #FRIER) + QM X (ETEE + [MER + AREE + MEER))
1.362 m2 = ((0.000 - 0.600) * 0.000) + (0.600 * (2.270 + 0.000 + 0.000 + 0.000))

A1 I 2 [BE = (TR - @R X SEFRER) + Ohlig X (ETER + AEE + AMER + MEER))
1.362 m2 = ((0.000 - 0.600) * 0.000) + (0.600 * (2.270 + 0.000 + 0.000 + 0.000))

JEHIHD B L 1 [BE = (PR - %iEiE) X B4 X SFRER) + OREE X BEh X (ETER + AREE + AREE + MEER))

0.967 m3 = ((0.000 — 0.600) * 0.710 * 0.000) + (0.600 * 0.710 * (2.270 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
| TiE®&E [ 14 | THEAM  |AREAEHETIE N v-+8S | o | —rewm  |mE/AE/WIs(HE)
JEFE R IEI Gl B Al 15l / it B M
JEHIH D R L 2 | = (GRFIE - SEilE) X JEA X SRFRER) + ((CF@iE X JER) - FEfd) X LIER) + GREE X B4 X (RIEEE + RIEEE + MELER))
0.449 m3 = ((0.000 — 0.600) * 0.340 * 0.000) + (((0.600 * 0.340) - 0.006) * 2.270) + (0.600 * 0.340 * (0.000 + 0.000 + 0.000))
Ay e 1 |EEHRHEGR = (GEFIE - S8R X JBEAR X #BPRER) + (5@l X EA) - Bl X (ELIERE + MEER)) + (F#liE X JEL X (RIBLEE + 348
ER))
CEES D) 0.063 m3 = ((0.000 - 0.600) * 0.050 * 0.000) + (((0.600 * 0.050) — 0.002) * (2.270 + 0.000)) + (0.600 * 0.050 * (0.000 + 0.000))
Ay )E 1 i = SR g
(Bl 2E9mH) 0.063 m3 = 0.063
Ay E 1| FE = A LS
(FEHI) 0.962 m3 = 0.962
Ay )E 2 |FHE = wHIEE &
(HEHI) 0.789 m3 = 0.789
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T T & 2 %+ B & (8 & % )
HEtEEEES . 01000000
TEES | 16 | THEEW [{KEIE N4 - &S [ o1 | J—F&F [EESIAS/GE0W20 (#H1E)
& fi EHEEEEE A
4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (GEFREIE - W@ mbsg) X FmEIL) X Gk
7.550 m = ((7.550 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.300) * 0.000)) * 1.000
LR 1 [BE = (GFIR - %iEiE) X #FRIER) + OHEE X (ETEE + [MER + AREE + MEER))
2.265 m2 = ((0.000 — 0.300) * 0.000) + (0.300 * (7.550 + 0.000 + 0.000 + 0.000))
e 1 [t = SEIE X Eh X (FTER + RRER + ARER + MELR)
0.702 m3 = 0.300 * 0.310 * (7.550 + 0.000 + 0.000 + 0.000)
e 2 [MmkiE = WEiE x B4 X (ELIEE + RIFLEE + AREE + MEER)
1. 245 m3 = 0.300 * 0.550 * (7.550 + 0.000 + 0.000 + 0.000)
AL 1R 1 [BE = (PR - %iEie) X MEFRIER) + QR X (ETEE + [BER + AREE + MEER))
2.265 m2 = ((0.000 — 0.300) * 0.000) + (0.300 * (7.550 + 0.000 + 0.000 + 0.000))
BAZE IR 1 [BE = (PR - %iEi) X #FRIER) + QM X (ETEE + [MER + AREE + MEER))
2.265 m2 = ((0.000 — 0.300) * 0.000) + (0.300 * (7.550 + 0.000 + 0.000 + 0.000))
A1 I 2 [BE = (TR - @R X SEFRER) + Ohlig X (ETER + AEE + AMER + MEER))
2.265 m2 = ((0.000 — 0.300) * 0.000) + (0.300 * (7.550 + 0.000 + 0.000 + 0.000))
JEHIHD B L 1 [BE = (PR - %iEiE) X B4 X SFRER) + OREE X BEh X (ETER + AREE + AREE + MEER))

0.702 m3 = ((0.000 - 0.300) * 0.310 * 0.000) + (0.300 * 0.310 * (7.550 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
| TiE®&E [ 16 | THEAM [#HKEIEZ N4 v-r&S | ot | —ha¥  [EESIAS/G50W20 (FE1E)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (GRFIE - SEilE) X JEA X SRFEER) + ((CFliE X JER) - FEfd) X LIER) + GREEE X B4 X (RIEEE + RIEERE + MELER))
0.687 m3 = ((0.000 — 0.300) * 0.310 * 0.000) + (((0.300 * 0.310) - 0.002) * 7.550) + (0.300 * 0.310 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.113 m3 = ((0.000 - 0.300) * 0.050 * 0.000) + (0.300 * 0.050 * (7.550 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.113 m3 = 0.113
Ay )E 1| HE = A LS
(FEHI) 0.702 m3 = 0.702
Ay )E 2 |HE = wHIEE &
(HEHI) 1.245 m3 = 1.245
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T I % E H++ 8 &8 (& # % )
BEHEEEES ;- 01000000 4 HEEEE]
| IEEE | 16 | T#E&% [HAkSIH N4 = [ 02 | W—Fr&#H [EESEFI/G50W20 (1)
& R B i m A m S E m sk
it 1) 1 Ml = e X EH X (ETER + RERE + RIBEE + MEIER)
1.812 m3 = 0.300 * 0.410 * (14.737 + 0.000 + 0.000 + 0.000)
i 1) 2 [mEkE - WEE X B4 X (FLEE + RIER + AEE + MEER)
2.210 m3 = 0.300 * 0.500 * (14.737 + 0.000 + 0.000 + 0.000)
FAZIE 1A 1 [ = (GTR - %miR) < SkFRER) + (il X (ETEE + RXBEE + ARER + WMEER))
4.421 m2 = ((0.000 - 0.300) * 0.000) + (0.300 * (14.737 + 0.000 + 0.000 + 0.000))
AR IH 2 [BE = (TR - %@ X FEEE) + (@lE X (TR + REEE + ABEE + BELER))
4,421 m2 = ((0.000 - 0.300) * 0.000) + (0.300 * (14.737 + 0.000 + 0.000 + 0.000))
SR B L 1 | = (TR - %0iE) X 4 X SFRER) + QRiElE X BH X (ETIER + RIEE + RIBEE + WMFEIER))
1.812 m3 = ((0.000 - 0.300) * 0.410 * 0.000) + (0.300 * 0.410 * (14.737 + 0.000 + 0.000 + 0.000))
SR 5 L o [BE = (TR - %@ X EA x SFEER) + ((FoiE X B2 - FEf) X ETEE) + GH@lE X B4 X (RIEEE + ARER + MEER))
1.341 m3 = ((0.000 - 0.300) * 0.310 * 0.000) + (((0.300 * 0.310) — 0.002) * 14.737) + (0.300 * 0.310 * (0.000 + 0.000 + 0.000))
ALY 1 [ = mEsUE R
(HEHED 1.812 m3 = 1.812
A 2 [ - mEIEE LR
(€/ElD) 2.210 m3 = 2. 210
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T T & 2 %+ B & (8 & % )
HEtEEEES . 01000000
TEES | 16 | THEEW [{KEIE N4 = [ 03 | J—r&F [d#E/315A/GW(HE1E)
& FE ) EH I A
4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (GEFREIE - W@ mbsg) X FmEIL) X Gk
4.100 m = ((4.100 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.300) * 0.000)) * 1.000
A B 1) 1 [BE = (GFIR - %iEiE) X #FRIER) + OHEE X (ETEE + [MER + AREE + MEER))
1.230 m2 = ((0.000 - 0.300) * 0.000) + (0.300 * (4.100 + 0.000 + 0.000 + 0.000))
e 1 [MeiEscR = WliE X Eh X (ETER + AWIER + AMRERE + MELER)
0.381 m3 = 0.300 * 0.310 * (4.100 + 0.000 + 0.000 + 0.000)
e o [EEsE = %iEiE X EA X (ETEE + [BER + AREE + MEER)
0.651 m3 = 0.300 * 0.530 * (4.100 + 0.000 + 0.000 + 0.000)
A IH 1 [BE = (PR - %iEie) X MEFRIER) + QR X (ETEE + [BER + AREE + MEER))
1.230 m2 = ((0.000 - 0.300) * 0.000) + (0.300 * (4.100 + 0.000 + 0.000 + 0.000))
BAZE IR 1 [BE = (PR - %iEi) X #FRIER) + QM X (ETEE + [MER + AREE + MEER))
1.230 m2 = ((0.000 - 0.300) * 0.000) + (0.300 * (4.100 + 0.000 + 0.000 + 0.000))
Az IR 2 [BE = (TR - @R X SEFRER) + Ohlig X (ETER + AEE + AMER + MEER))
1.230 m2 = ((0.000 - 0.300) * 0.000) + (0.300 * (4.100 + 0.000 + 0.000 + 0.000))
JEHIHD B L 1 [BE = (PR - %iEiE) X B4 X SFRER) + OREE X BEh X (ETER + AREE + AREE + MEER))

0.381 m3 = ((0.000 - 0.300) * 0.310 * 0.000) + (0.300 * 0.310 * (4.100 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
BRETEEIEES - 01000000 H#HEE]
| IBES | 16 | TE4%H [HKEIE N4 - &S [ 03 | J—r&F [d#E/315A/GW(HE1E)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (GRFIE - SEilE) X B X SRFRIER) + (FiE X JEA X (ETIER + RIEEE + TR + MEER))
0.356 m3 = ((0.000 — 0.300) * 0.290 * 0.000) + (0.300 * 0.290 * (4.100 + 0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = (PR - SR X JBEA X MFHRIER) + GFER X EH X (ETIEE + RIEERE + RIEEE + MELER))
SRS 0.061 m3 = ((0.000 - 0.300) * 0.050 * 0.000) + (0.300 * 0.050 * (4.100 + 0.000 + 0.000 + 0.000))
Ay )E 1 | = SR g
(Bl ZE9mH) 0.061 m3 = 0.061
Ay )E 1| HE = A LS
(FEHI) 0.381 m3 = 0.381
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.651 m3 = 0.651
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T I % E H++ 8 &8 (& # % )
SREtEEEFS - 01000000
| IEEE | 16 | T#E&% [HAkSIH N4 = | 04 | IW—r&%H |Rih/iE6/owWEEE)
& R B i m A m S E m sk
it 1) 1 [Mlkih = EEE X BA X (ETIER + REEE + RIEER + WMEER)
2.500 m3 = 0.500 * 1.000 * (5.000 + 0.000 + 0.000 + 0.000)
SR B L 1 [ = (TR - %oiR) X Bh X #FEER) + QRdiE X 85 X (FTHER + RIEEE + REEE + BELER))
2.500 m3 = ((0.000 — 0.500) * 1.000 * 0.000) + (0.500 * 1.000 * (5.000 + 0.000 + 0.000 + 0.000))
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+T T &% E ft E & (& B % )
RETEEEES . 01000000
IBES | 18 | T@4#% |[BERKESHE - &S | o1 | J—he#  [EE/#E/GeowWTs (EE)
JE AR G . A S - v
b 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
3.500 m = ((3.500 + 0.000 + 0.000 + 0.000) + ((0.000 - 0.000) * 0.000)) * 1.000
ShLEHRHI 1%k = (GETiR - WimiE) X PEER) + QFliE X (RI3ER + RIEE + RIEEE + MEER))
2.450 m2 = ((0.000 — 0.700) * 0.000) + (0.700 * (3.500 + 0.000 + 0.000 + 0.000))
A 1| EmE = s X BEAR X (ETLER + RERE + RIERE + MEER)
1.324 m3 = 0.700 * 0.540 * (3.500 + 0.000 + 0.000 + 0.000)
A 2 |EEEE = WEiE X BEA X (ETHER + REEERE + RIEIERE + MEER)
1.592 m3 = 0.700 * 0.650 * (3.500 + 0.000 + 0.000 + 0.000)
LB 5| 1%k = (GETFiR - WiliE) X PRER) + QFliE X (RI13ER + REE + RIBEE + fMEER))
2.450 m2 = ((0.000 — 0.700) * 0.000) + (0.700 * (3.500 + 0.000 + 0.000 + 0.000))
EEEE 2 |HE = (PR - W) X EPEIER) + 5@ X (ETIERE + SR + SRt R + MEER))
2.450 m2 = ((0.000 — 0.700) * 0.000) + (0.700 * (3.500 + 0.000 + 0.000 + 0.000))
L[5 3 [HE = (GEPIE - 5EiE) X MRRER) + (iR X (ET3ERE + RER + fBERE + MEIERE))

2.450 m2 = ((0.000 — 0.700) * 0.000) + (0.700 * (3.500 + 0.000 + 0.000 + 0.000))

HEAZAE |H

i = (TR - SR X FRIER) + (Rdig X (ETIER + RIER + RER + MEER))

2.450 m2 = ((0.000 — 0.700) * 0.000) + (0.700 * (3.500 + 0.000 + 0.000 + 0.000))
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T T % E 8 E E (fF B % )
BHEEEES - 01000000[ LHHEHE]
| IBES | 18 | T@4#% |[BERKESHE - &S | o1 | J—he#  [EE/#E/GeowWTs (EE)
JEFER EIG B M. il / 7t B =
HARIE IR 2 & = (PR - SR X FFRIER) + O5@iE X (BTIER + RIERE + IR + WMEIER))
2.450 m2 = ((0.000 — 0.700) * 0.000) + (0.700 * (3.500 + 0.000 + 0.000 + 0.000))
PEHIHR O R L 1 |[FE = (PR - HEE) X BELs X fFRRIER) + (F@iE X BEh X (RTEE + REE + 3UEE + fEER))
1.324 m3 = ((0.000 - 0.700) * 0.540 * 0.000) + (0.700 * 0.540 * (3.500 + 0.000 + 0.000 + 0.000))
7% A5y 1 [EhEEEEE = (PR - %R X Ea X HFREIER) + (F@iE X BEi X (RITEE + KRR + 3UEE + fIEER))
(S AEHm ) 0.245 m3 = ((0.000 — 0.700) * 0.100 * 0.000) + (0.700 * 0.100 * (3.500 + 0.000 + 0.000 + 0.000))
iy e 1 & = GiEERHE S R
(G 0.245 m3 = 0.245
By e 1 |FE = WHE e &
(B 1) 1.324 m3 = 1.324
By e 2 |%E = WHIEE L&
() 1.592 m3 = 1.592
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T T % E 8 E E (fF B % )
RETEEEES . 01000000
TEEE | 18 | IEEW [BBRKEEEE [L—-+rES | o2 | —he#  |dE/#E/G50WT5 (BE)
JE AR JE d~ G A - -
b 1 MR = (FTER + RIWVEE + TR + WEER) + (WEFRANE - @imEg) X PRE)) < ke
2.800 m = ((2.800 + 0.000 + 0.000 + 0.000) + ((0.000 - 0.700) * 0.000)) * 1.000
b Bl 1% = (GEFIRE - @R X FERER) + GR@E X (ETERE + /TR + RIBIEE + fEEER))
1.960 m2 = ((0.000 - 0.700) * 0.000) + (0.700 * (2.800 + 0.000 + 0.000 + 0.000))
A 1 M@ = HEE X EA X (LTHEE + MEERE + sUREE + MEIEE)
1.862 m3 = 0.700 * 0.950 * (2.800 + 0.000 + 0.000 + 0.000)
T 2 [MEkE = iR X EA X (ELER + RIERE + RIBER + MEER)
0.470 m3 = 0.700 * 0.240 * (2.800 + 0.000 + 0.000 + 0.000)
LB 5| 1%k = (GETFiR - WiliE) X PRER) + QFliE X (RI13ER + REE + RIBEE + fMEER))
1.960 m2 = ((0.000 - 0.700) * 0.000) + (0.700 * (2.800 + 0.000 + 0.000 + 0.000))
EEAEE IH 1%k = (GETIR - WimiE) X PEER) + QFliE X (RI3ER + RIEE + RIEEE + MEER))
1.960 m2 = ((0.000 — 0.700) * 0.000) + (0.700 * (2.800 + 0.000 + 0.000 + 0.000))
AR IH 2 |HE = (PR - WEiE) X EPRIEE) + 5@ X (ETIEE + SR + SIBER + WEER))
1.960 m2 = ((0.000 - 0.700) * 0.000) + (0.700 * (2.800 + 0.000 + 0.000 + 0.000))
HHEIFR DR L 1% = (GEFIRE - @R X BEA X SFRIEE) + GEE X ER X (LTEE + MMiER + TR + MEIEE))

1.862 m3 = ((0.000 — 0.700) * 0.950 * 0.000) + (0.700 * 0.950 * (2.800 + 0.000 + 0.000 + 0.000))
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T T & 2 %+ B & (8 & % )
BEHEGEES . 01000000[ L HEEHE]
TEEE | 18 | TEEW [BRKESEE L—+&E | 02 | L —+&F |d#E/#E/G50wWTs ()
JiE R | EHEEEE A
% 45 1 [BEmEER = (TR - WiliE) X JE4 X MFRER) + GFliE X 84 X (TR + /LR + AEE + MEER))
(€ el 0.098 m3 = ((0.000 — 0.700) * 0.050 * 0.000) + (0.700 * 0.050 * (2.800 + 0.000 + 0.000 + 0.000))
TRy 1 [l = shsmfe g i
€k ElD) 0.098 m3 = 0.098
7% LS8 1 |HE - mEEUE LR
(B ) 1.862 m3 = 1.862
TRy 2 [ = mEgE LR
(B ) 0.470 m3 = 0.470
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R1. TR {EIER

KIRDIFE-~Ti& i e = x x x
R i . ;Ji
1 1 E 1 E & l‘ll'.\\ 0) ) >
# m & & A = &
W ® o 2 = i i B Z =
| o & B # i
IS F S Y # 2 =] wE
& 5] = =40} F S # = &
= O) @ ® @ ® ® @ ®
@/D*2 | B2+ ®/@
(m) (m) (t/m-#%) (m) #) (t) ([E0) (t) (/) (m)
HRE
B3E/40%] 0.25 2.0 0.0118 2.3 18 0. 4248 1 0. 4248 7 2.0mEA T [1.1~1.5
KiEH
B3E/4%] 0.25 2.0 0.0118 2.3 18 0. 4248 1 0. 4248 7 2.0mEA T [1.1~1.5
(EMEKETAH - BAT)
TEEIE
1.5mEA T [ 2.0mEATT | 2. 5mEATT | 3. OmEATR | 3. 5mEAF [ 3. 8mLLF
HR 2.3
JKiE 2.3
(XBI) _ (EREXEER) _
SRIE TEEIE ERAE% | HABE ZRFEAEE |[XBREREE AH)
= 2. omBAF [ 3. 5mA T [3. 8mELF 1 78 0. 4248 0.4t
0.9F AR
. 0.9~1.1
AR HA<15] 23 1a 78 0. 4248 0.4t
1.5~2.0 ki
0.9
w |0.9~1.1
KE NS 23
1.5~2.0




